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Very often plants produce undifferentiated mass of cells at the site of wound which

1s known as

1. Embryo
2. Branch
3. Callus
4, Bud
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68019116601. 1
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Question Number : 2 Question Id : 6801914268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Root culture 1s used to produce

. Plantibodies
Alkaloids

. Proteins

4, Fruits
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Options:

68019116605. 1
68019116606. 2
68019116607. 3

68019116608. 4

Question Number : 2 Question Id : 6801914268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019116605. 1
68019116606. 2
68019116607. 3
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synthetic seeds are

1. Somatic embryos encapsulated in matrix
2. Callus encapsulated in matrix

3. Root tip encapsulated in matrix

4. Seeds encapsulated mn matrix

Options :

68019116609. 1
68019116610. 2
68019116611. 3
68019116612. 4

Question Number : 3 Question Id : 6801914269 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019116609. 1
68019116610. 2
68019116611. 3

68019116612. 4

Question Number : 4 Question Id : 6801914270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyphenolic compounds are oxidized by polyphenol oxidases in the plants,
resulting in the darkening and spoilage of explants while performing tissue culture,
The procedures used to overcome this issue include:

(A). Adding antioxidants to culture medium

(B). Presoaking explants in antioxidants

(C). Adding ascorbic acid in the media

(D). Frequently transferring explants into fresh media

Choose the correct answer from the options given below

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(A). (B). (C) and (D).
4. (B) and (D) only.

Options :

68019116613. 1
68019116614. 2
68019116615. 3

68019116616. 4
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Instruction Time: 0
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68019116613. 1
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68019116616. 4
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Endosperm culture 1s useful for the development of

1. Haploid plants
2. Diploid plants
3. Triploid plants
4, Tetraploid plants

Options:

68019116617. 1
68019116618. 2
68019116619. 3
68019116620. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116617. 1
68019116618. 2
68019116619. 3
68019116620. 4

Question Number : 6 Question Id : 6801914272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Cytokining

(A). Are dertvatives of adenines

(B). Are important for shoot imnduction

(C). Have property of cell elongation

(D). Usually promotes cell division if added together with auxin in culture
Choose the correcr answer trom the options given below:

. (A). (B) and (C) only
. (A). (B) and (D) only
(A). (C) and (D) only
4. (B). (C) and (D) only
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Options:

68019116621. 1
68019116622. 2
68019116623. 3

68019116624. 4
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Match List I with List IT

LIST1I

Tvpe of plant tissue A LIE;:EGH
culture PP
A |Seed Culture [. |Development of seed-less fruits
B. |Anther culture H. Usciabinroinmrenctic

manupulation easilv in plants

Generating plants of small seeds

£ (Rudosperm entare | having less food reserve

D. |Protoplast culture | IV. |Haploid production

Choose the correct answer from the options given below:

. (A) - (III). (B) - (IV). (C) - (D). (D) - (II)
(A)- (D). (B) - (D). (C) - (IIT). (D) - (IV)
.(A) - (ID). (B) - (D). (C) «(IV) . (D) - (IIT)
. (A) - (ID). (B) - (IV). (C) - (I). (D) - (III)

g b —

s

Options :

68019116625. 1
68019116626. 2
68019116627. 3
68019116628. 4
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1. (A) - (ITT). (B) - (IV). (C) - (I). (D) - (II)
2.(A) - (D). (B) - (II). (C) - (IIT). (D) - (IV)
3.(A)- (D), (B) - (D). () -(IV) . (D) - (IIT)
4.(A) - (I). (B) - (IV). (C) - (I).. (D) - (11I)

Options :

68019116625. 1
68019116626. 2
68019116627. 3

68019116628. 4

Question Number : 8 Question Id : 6801914274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I wath List IT

LISTI LISTII
Enzyvmes used for protoplast isolation| Source
A |Cellulase [. |Rhizopus spp
B. |Helicase II. |Trichoderma
C. |Zvmolvase III. | Arthobacter spp
D. |Macerase IV. |Helix spp

Choose the correct answer from the options given below:

1. (A) - V). (B) - (II). (C) - (I1). (D) - (I)
2. (A) - (IID). (B) - (ID). (C) - (IV). (D) - (I)
3.(A) - (IV). (B) - (). (C) - (II). (D) - (III)
4. (A) - (I). (B) - (IV). (C) - (IT). (D) - (I)



Options :

68019116629. 1
68019116630. 2
68019116631. 3
68019116632. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - V). (B) - D). (C) - D). (D) - (I)
2. (A)- (). (B) - (II). (C) - (IV). (D) - (I)
3.(A)-(IV). (B) - (I).. (C) - (II). (D) - (III)
4. (A) - (IT). (B) - (IV). (C) - (IT). (D) - (I)

Options :

68019116629. 1
68019116630. 2
68019116631. 3

68019116632. 4

Question Number : 9 Question Id : 6801914275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTIT
Crop Somaclonal variants obtained
A |Rice I. |High carotene content
B. |Maize II. |Grain color
C. |Carrot ITI. |Sterility mutant
D. [Wheat IV |Glyphosate resistance

Choose the correct answer from the options given below:

1. (A) - AV). (B) - (I). (C) - (I). (D) - (III)
2. (A) - (). (B) - (IV). (C) - (I). (D) - (I)
3.(A) - (IV). (B) - (IT). (C) - (IT). (D) - (I)
4. (A) - (I). (B) - (ITI). (C) - (II). (D) - (IV)

Options :

68019116633. 1
68019116634. 2
68019116635. 3
68019116636. 4

Question Number : 9 Question Id : 6801914275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YAl-1 3R G-11 BT GHferd o -
I I
L A -
A [dmEd 1 [ BRIEH AE
B. [Ad IL [gH &1 8
C. [meR I1L. | ${Fa’al Sdiad
D. [TE IV. |[EhIEE HioRiy
A f&u 7Tt fosedl § 9§ 9el 3R -

1. (A) - IV). (B) - (I). (C) - (I). (D) - (III)
2.(A) - (I). (B) - (IV). (C) - (I). (D) - (II)
3.(A) - (IV). (B) - (IT). (C) - (IT). (D) - (I)
4.(A) - (I). (B) - (). (C) - (II). (D) - (IV)

Options :



68019116633. 1
68019116634. 2
68019116635. 3

68019116636. 4

Question Number : 10 Question Id : 6801914276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

Tk 2 LISTII
Phases of plant cells in : g
Changes in growth pattern
culture
[ Bhng e I Fate of cell division and elongation

decreases

Cell division slows but cell

BE. |Exponential phase II. sy
eXpansion increases

0

Linear phase I11. |Cells prepare to divide

D. |Decelaration phase IV. |Highest rate of cell division

Choose the correct answer from the options given below:

(A) - (III). (B) - (IV). (C) - (II). (D) - (I)
. (A) - (). (B) - (IV). (C) - (I). (D) - (II)
. (A) - (IV). (B) - (IIT). (C) - (II). (D) - (I)
. (A) - (D). (B) - (IIT). (C) - (IV). (D) - (I)
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Options :

68019116637. 1
68019116638. 2
68019116639. 3
68019116640. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (ITT). (B) - (IV). (C) - (IT).. (D) - (I)
2.(A) - (). (B) - (IV). (C) - (I). (D) - (II)
3.(A) - (IV). (B) - (IT). (C) - (II). (D) - (I)
4.(A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)

Options :

68019116637. 1
68019116638. 2
68019116639. 3

68019116640. 4

Question Number : 11 Question Id : 6801914277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shoot tip culture 1s performed through the following steps
(A). Shoot tip collection from the plant

(B). Axillary shoot proliferation

(C). Rooting of shoots

(D). Primary culture of tip

Choose the correct answer from the options given below:

1. (B). (D). (C). (A).
2. (A). (Q). (B). (D).
3.(A). (D). (B). (C).
4.(C). (B). (D). (A).

Options :
68019116641. 1

68019116642. 2



68019116643. 3

68019116644. 4

Question Number : 11 Question Id : 6801914277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (B). (D). (C). (A)
2. (A), (C). (B). (D)
3. (A), (D), (B). (C)
4. (C). (B), (D). (A)

Options :

68019116641. 1
68019116642, 2
68019116643. 3

68019116644. 4

Question Number : 12 Question Id : 6801914278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Different steps for regeneration via organogenesis

(A). shoot formation

(B). callus formation

(C). Initial explant

(D). plantlet

Choose the correct answer from the options given below:

1. (A). (D). (C). (B).
2. (D), (B). (A). (C).
3.(B). (C). (A). (D).
4. (C). (B), (A), (D).



Options :

68019116645. 1
68019116646. 2
68019116647. 3
68019116648. 4
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Instruction Time : 0
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.(A), (D). (C), (B)
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Options :

68019116645. 1
68019116646. 2
68019116647. 3

68019116648. 4
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Correct Marks : 4 Wrong Marks : 1



Following steps are used in Bergmann cell plating technique
(A). Passing cells through gauge

(B). Mixing cells with molten agar medium

(C). Plating cells in petridishes

(D). Cell suspension

Choose the correct answer from the options given below:

1. (D). (A). (B). (C).
2. (A), (B). (C). (D).
3.(B). (D). (A). (O).
4. (C). (B), (A), (D).

Options :

68019116649. 1
68019116650. 2
68019116651. 3
68019116652. 4

Question Number : 13 Question Id : 6801914279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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L. (D). (A). (B). (C)
2. (A). (B). (C). (D)
3.(B). (D). (A). (C)
4.(C). (B). (A). (D)

Options :

68019116649. 1
68019116650. 2
68019116651. 3

68019116652. 4



Question Number : 14 Question Id : 6801914280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In vitro techniques to produce haploids are used to generate

. Heterozygous lines
. Homozygous lines
. Null lines

. Mutant lines
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Options:

68019116653. 1
68019116654. 2
68019116655. 3
68019116656. 4

Question Number : 14 Question Id : 6801914280 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116653. 1
68019116654. 2
68019116655. 3

68019116656. 4
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The chromosome number of a haploid plant can be doubled using

1. Cytokinin
2. Auxin

3. Colchicine
4. Agar

Options:

68019116657. 1
68019116658. 2
68019116659. 3

68019116660. 4

Question Number : 15 Question Id : 6801914281 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019116657. 1
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Different plant tissue culture methods used to produce haploids

1. Embryo as well as root cutlure

2. Microspore as well as shoot culture

. Anther as well as microsopre cutlure
4. Anther as well as meristem culture

L]

Options :

68019116661. 1
68019116662. 2
68019116663. 3

68019116664. 4

Question Number : 16 Question Id : 6801914282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019116661. 1
68019116662. 2
68019116663. 3
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Correct Marks : 4 Wrong Marks : 1



Development of haploid plants from male gametophytic tissue 1s known as

. Androgenesis
. Gynogenesis
. Organogenesis
4. Morphogenesis

| I
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Options :

68019116665. 1
68019116666. 2
68019116667. 3

68019116668. 4

Question Number : 17 Question Id : 6801914283 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116665. 1
68019116666. 2
68019116667. 3
68019116668. 4
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When anthers containing microspores at the muiddle to late uninucleate stage are
cultured on solid media then they form

1. Pollens
2. Ovule
3. Cybrids
4. Callus

Options :

68019116669. 1
68019116670. 2
68019116671. 3
68019116672. 4

Question Number : 18 Question Id : 6801914284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ofd Tel H iy IR-ATNPIY sraeyl T agfaeulsii ard RS & 319
ATeH IR Aafdd a1 ST 8 of 3 S 9 ©

1. U1

2. |iefis

RIS ERR

4. Pad
Options :

68019116669. 1
68019116670. 2
68019116671. 3

68019116672. 4

Question Number : 19 Question Id : 6801914285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Microspores may give rise to the plants having

. One extra chromosome

. Half of the number of chromosomes

. Double of the number of chromosomes
4. Triple of the number of chromosomes

|

L]

Options :

68019116673. 1
68019116674. 2
68019116675. 3

68019116676. 4

Question Number : 19 Question Id : 6801914285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TAYSTS] 3 U1l &1 39 S THhd & ford
IO i E=HT 31T gl
T[UREAT i = ST Bl

4. TUREAT St Fwen T 8l

Options :

fag 2 —

68019116673. 1
68019116674. 2
68019116675. 3

68019116676. 4

Question Number : 20 Question Id : 6801914286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Problem of mixoploidy associated with anther culture was overcome by

. Microspore culture
. Ovule culture

. Root culture

4. Shoot culture

|

L]

Options :

68019116677. 1
68019116678. 2
68019116679. 3

68019116680. 4

Question Number : 20 Question Id : 6801914286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORI Gt 4 o] MaIEigs! & GH%T UR DIg S9 Ul for 11 §

1. Y] Yad=

2. diviis Haeq

3. g daeq

4. WRI8 HadH
Options :
68019116677. 1
68019116678. 2
63019116679. 3

68019116680. 4

Question Number : 21 Question Id : 6801914287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Gynogenic embryogenesis can be developed by culturing

1. Ovary and root

2. Ovule and anther

3. Microsopre and ovary
4. Ovary and ovule

Options :

68019116681. 1
68019116682. 2
68019116683. 3

68019116684. 4

Question Number : 21 Question Id : 6801914287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TSI YOS &l 59 Y€ gRT [dbiid foan o 9adl §
SIS 3R 9RAT

TS 3R 3SR

4. 3SR R dSS

Options :

fag 2 —

68019116681. 1
68019116682. 2
68019116683. 3
68019116684. 4

Question Number : 22 Question Id : 6801914288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Chromosome elimination technique was established for the production of

. Polyploids
. Haploids
3. Diploids
4. Triploads

I =

Options :

68019116685. 1
68019116686. 2
68019116687. 3

68019116688. 4

Question Number : 22 Question Id : 6801914288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g9 IIEA @ (AU VR 3= ddb-id ®IUd $i 715 Ut

Options :

68019116685. 1
68019116686. 2
68019116687. 3

68019116688. 4

Question Number : 23 Question Id : 6801914289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



For the development of diploid plantlets, the order of tissue culture steps will be
(A). Development of haploid plantlet

(B). Collection of flowers

(C). Isolation and culture of anthers

(D). Colchicine treatment

Choose the correct answer from the options given below:

1. (D). (A). (B). (C).
2. (C). (B). (D). (A).
3. (B). (D). (A). ().
4. (B), (C). (A). (D).

Options :

68019116689. 1
68019116690. 2
68019116691. 3
68019116692. 4

Question Number : 23 Question Id : 6801914289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

f&TIfOTd uTgul & faer & T, S Had- & =)ol &1 HH gl
(A) ST qTeUs &1 f[dBry

(B) Pdl BT HI8

(C) TRITR T &1 {ATd 3R Had=

(D) Difed = IUER

- fau e fd el § 9§ |el SR I

1. (D), (A). (B). (C)
2. (C). (B). (D). (A)
3.(B). (D). (A). (C)
4. (B). (C). (A). (D)

Options :

68019116689. 1
68019116690. 2
68019116691. 3

68019116692. 4



Question Number : 24 Question Id : 6801914290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Different steps involved in the elimination of chromosomes in cereals through
plant tissue culture

(A). Embryo culture

(B). Chromosome elimination

(C). Crossing

(D). Monoploid plant development

Choose the correct answer from the options given below:

. (D). (B). (C). (A).
_(A). (C). (D). (B).
.(C). (B). (A). (D).
.(C). (D). (A). (B).

| I

e g

Options :

68019116693. 1
68019116694. 2
68019116695. 3
68019116696. 4

Question Number : 24 Question Id : 6801914290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
%@W@H%%WW@WﬁW%WﬁWﬁﬁﬁﬂ
(A) 30T HaEH

(B) URE ST

(C) TEHHA

(D) HIFIEES Uigy &1 fabr g

=i fu e fooedl & 9§ 98t SR I:

1. (D). (B), (C). (A)
2. (A). (C). (D). (B)
3.(C). (B). (A). (D)
4. (C). (D). (A). (B)

Options :

68019116693. 1



68019116694. 2
68019116695. 3

68019116696. 4

Question Number : 25 Question Id : 6801914291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Homozygous lines developed through the anther culture must be analysed to check
their ploidy status through

(A). The colour of the flowers

(B). Counting of plastids in stomata

(C). Chromosome number

(D). Number of nucleoli

Choose the eorrect answer from the options given below:
1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(B). (C) and (D) only.
4. (A). (C) and (D) only.

Options:

68019116697. 1
68019116698. 2
68019116699. 3

68019116700. 4

Question Number : 25 Question Id : 6801914291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



URTT At & AeH ¥ (0P d SHgHel 1813 31 390 Wige! o [&Ufd &1
S @R+ & ot g-b gRT G [dZdyu faodr SiHm 91ig v

(A) Pl & TTGRT

(B) XY H Tad]| &l [l gRI

(C) TURA HB=AT GRI

(D) i@ I G-I GRI

-9 feu 7 faoeul O 9§ ¥ 3R -

1.%ad (A). (B) IR (D)
2. B4 (A). (B) 3R (C)
3. 44 (B), (C) 3R (D)
4.%ad (A). (C) 3R (D)

Options:

68019116697. 1
68019116698. 2
68019116699. 3
68019116700. 4

Question Number : 26 Question Id : 6801914292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTII
Related
method/process/example

LISTI
In plant tissue culture

A |Ploidy level checking [. |Morus indica

B. |Diploidization II. |Haploid induction

&5 Hatiask pracnion bk III. |Plastid number in stomata
plants

D. |Gynogenic plants IV |Endomitosis

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (III). (C) - (IV). (D) - (I)
2. (A) - (D). (B) - V). (C) - (IT). (D) - (1)
3. (A) - (IV). (B) - (ITT). (C) - (I). (D) - (II)
4. (A) - (III). (B) - (D). (C) - (AV). (D) - (II)

Options :

68019116701. 1



68019116702. 2
68019116703. 3

68019116704. 4

Question Number : 26 Question Id : 6801914292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g1 SR gEI-11 1 gafad o -
SSik

Il
ey Had Hai=d  [Fafua faftrafearaerew]

A @SR SIS | L [[HRg s
B. |ferori®eo 1L |SATfUTd SROT
C. |7 ot ot fafay 9| . [Ry o dast &1 gwem
D. [TEHSHE Uiy Iv. [Teiffeiig

-9 fEU T famedl & 4 |8t SR -

. (A) - (ID). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (). (B) - (IV). (C) - (II). (D) - (I)
. (A) - (IV). (B) - (III). (C) - (I). (D) - (II)
4. (A) - (D). (B) - (I). (C) - (IV). (D) - (II)

fasd B2 —

Options :

68019116701. 1
68019116702. 2
68019116703. 3

68019116704. 4

Question Number : 27 Question Id : 6801914293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most commonly used chemical for the protoplast fusion

1. PEG
2. Mannitol
.FDA
4. Ethylene

L]

Options :

68019116705. 1
68019116706. 2
68019116707. 3

68019116708. 4

Question Number : 27 Question Id : 6801914293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Slidg el Sad- o [0 gad 3ffed Iugn fear S arar T9ra-

1. PEG
2

. FDA

4. 30l

Options:

L]

68019116705. 1
68019116706. 2
68019116707. 3

68019116708. 4

Question Number : 28 Question Id : 6801914294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Protoplasts are

s without peroxisome
s without cell wall
1
1

IJI—‘

s without chloroplast
s without chromoplast

':..u

Ce
4 Ce
Options :
68019116709. 1
68019116710. 2
68019116711. 3

68019116712. 4

Question Number : 28 Question Id : 6801914294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Sasad §

1. RAIFD Agd DIRHY
2. BIPT IR Ied PR
3. FARIEIRE g d DIRTHY
4. guieta® fed HIfET

Options :

68019116709. 1
68019116710. 2
68019116711. 3

68019116712. 4

Question Number : 29 Question Id : 6801914295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Plant cell protoplasts can be prepared by treating cells with

. Cellulase. hemicellulage and pectinase
. Cellulase and pectinase only

. Pectinase only

4. Cellulase and hemicellulase

b =

L]

Options :

68019116713. 1
68019116714. 2
68019116715.3

68019116716. 4

Question Number : 29 Question Id : 6801914295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TG, %ﬁ@?ﬁﬁaﬁ?ﬁ%
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Options :

68019116713. 1
68019116714. 2
68019116715. 3

68019116716. 4

Question Number : 30 Question Id : 6801914296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fluorescein diacetate (FDA) stain 1s used for

. Mitochondrial apoptosis
Chlorophyll content

. Nuclei staining

4. Protoplast viability

b =

L]

Options :

68019116717. 1
68019116718. 2
68019116719. 3

68019116720. 4

Question Number : 30 Question Id : 6801914296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Fluorescemn diacetate (FDA) SERGIE BT 3TN il Sird %’

1. Arscidplgad TUigiE
2. FARIThe I HE

3. adig ARG

4. Mgz edd Hagd]

Options :

68019116717. 1
68019116718. 2
68019116719. 3

68019116720. 4

Question Number : 31 Question Id : 6801914297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Agar 1n plant tissue culture acts as

. Solidifying agent

. Growth factor

. Diploidization enhancer
4. Organogenesis enhancer

| I

L]

Options :

68019116721. 1
68019116722. 2
68019116723. 3

68019116724. 4

Question Number : 31 Question Id : 6801914297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

qIgY 3d® Hada ¥ 3R 59& &0 § B &dl o

1. B g9 a1l PR
2. oo FR®

3. TguritesR aeiep

4. TS gt
Options :

68019116721. 1
68019116722. 2
68019116723. 3

68019116724. 4

Question Number : 32 Question Id : 6801914298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Following sequence 1s followed for the protoplast culture

(A). Plant regeneration

(B). Teatment of cells with enzyme mixture

(C). Callus culture

(D). Leaf sterilization and removal of epidermis to expose mesophylls

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (D), (B), (C). (A).
3. (B). (A), (D). (C).
4. (C). (B). (D). (A).

Options :

68019116725. 1
68019116726. 2
68019116727.3
68019116728. 4

Question Number : 32 Question Id : 6801914298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Silagead Tad- & oy HafaRad s &1 ureH fbar ol 3

(A) UTGY YoIH

(B) UsTigH flur & Ty HIfD131 &1 IUIR

(C) ey "ae

(D) UUIHEOA® B JoTR B3 & o0 Uit &1 dedieeur 3R ufusiig of geml
- feu e fasent & 9§ 98l SR I:

1. (A). (B). (C). (D)
2. (D). (B). (C). (A)
3. (B). (A). (D), (C)
4.(C). (B). (D). (A)

Options :

68019116725. 1
68019116726. 2
68019116727. 3

68019116728. 4



Question Number : 33 Question Id : 6801914299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Different steps in the generation of somaclonal variation without in vitro selection

(A). Explant selection
(B). Whole plant generation
(C). Callus formation
(D). Shoot generation

Choose the correct answer from the options given below

1. (A). (B). (C). (D).
2. (A). (C). (D). (B).
3. (B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019116729. 1
68019116730. 2
68019116731.3

68019116732. 4

Question Number : 33 Question Id : 6801914299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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_(A). (B). (C). (D)
. (A). (O). (D). (B)
.(B). (A). (D). (C)
4. (C). (B). (D). (A)
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Options :



68019116729. 1
68019116730. 2
68019116731. 3

68019116732. 4

Question Number : 34 Question Id : 6801914300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following are the disadvantages of somaclonal variation

(A). Novel variants may arise

(B). Variations are cultivar dependent

(C). Most of the variations are of no apparent use
(D). Variations are not always stable and heritable

Choose the correct answer from the options given below:

. (A). (C) and (D) only.
. (A). (B) and (D) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

a3 =

L]

Options :

68019116733. 1
68019116734. 2
68019116735. 3

68019116736. 4

Question Number : 34 Question Id : 6801914300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



pradal fafasar & qear Fefafaa €

(A) T4 =Y 3T & I&Hd &

(B) fafaeand ot Sueiid oR R gidl &

(C) 3Ty fafdydnal o1 &S @y Iugi I8 &
(D) fafgeart o= fRR iR gegd e gid &
- feu Y fdoedl O 9§ 98T SR I

1. %qd (A). (C) 3R (D)
2.%dd (A). (B) 3R (D)
3.(A). (B). (C) 3R (D)

4. %ad (B), (C) 3R (D)

Options:

68019116733. 1
68019116734. 2
68019116735. 3
68019116736. 4

Question Number : 35 Question Id : 6801914301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The somatic hybrids produced through protoplast fusion needs authentication and
purification due to very low effeciency of fusion. homofusion and no fusion, this
may be performed by the following complementations

(A). Alpha-complementation

(B). Chlorophyll deficiency complementation

(C). Auxotroph complementation

(D). Resistance marker complementation

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options:

68019116737. 1
68019116738. 2
68019116739. 3
68019116740. 4



Question Number : 35 Question Id : 6801914301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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g g HafeiRad Radrsi gRI fedr &1 Jebd

(A) WW

(B) FIRIThel &1 Ul GRehdl

(C) SHIFICI® Rebdl
(D) UfaRTe ATH

S .
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1. %ad (A). (B) AR (C)
2. B (A). (B) 3R (D)
3. (A). (B). (C) 3R (D)

4.%4ad (B). (C) 3R (D)

Options :

68019116737. 1
68019116738. 2
68019116739. 3
68019116740. 4

Question Number : 36 Question Id : 6801914302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI LISTII
First species out of two used for Second species out of two used for
intergeneric hybrid production through | intergeneric hyvbrid production through
protoplast fusion protoplast fusion
A |Solanum tuberosum [ |dtropa belladona
B. |Arabidepsis thaliana II. |Echinochioa orvzicola
C. |Datura innoxia IT1. |L. esculentum
D. |Oriza sativa IV. |B. compestris

Choose the correct answer from the options given below:

1. (A) - (ITI). (B) - (IV). (C) - (I). (D) - (II)
2.(A)-(IV). (B) - (). (C) - (II). (D) - (I)
3.(A) - (D). (B) - (IV). (C) - (I). (D) - (IIT)
4. (A) - (D). (B) - (I). (C) - (IV). (D) - (II)

Options :

68019116741. 1
68019116742. 2
68019116743.3

68019116744. 4

Question Number : 36 Question Id : 6801914302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (ITT). (B) - (IV). (C) - (D). (D) - (II)
2.(A)-(IV). (B) - (IIT). (C) - (II). (D) - (I)
3.(A) - (D). (B) - (IV). (C) - (I). (D) - (IIT)
4.(A) - (II). (B) - (1). (C) - (IV). (D) - (II)

Options :

68019116741. 1
68019116742. 2
68019116743. 3

68019116744. 4

Question Number : 37 Question Id : 6801914303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Somatic hvbrids  |Traits tranferred via protoplast fusion
A |Nicatiana tabacum| 1. |High nicotine content
B. |Solanum spp II. |Black rot resistance
C. |Brassica spp III. | Tobacco mosaic virus resistance
D. |Nicotiana rustica | IV. |Potato virus X resistance

Choose the correct answer from the options given below:

L. (A) - (IV). (B) - (I). (C) - (II). (D) - (I)
2. (A)-(11).(B) - (II). (C) -(IV). (D) - (1)
3. (A) - (II1). (B) - (IV). (C) - (II). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (). (D) - (I )



Options :

68019116745. 1
68019116746. 2
68019116747.3
68019116748. 4

Question Number : 37 Question Id : 6801914303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 SR gEI-11 D1 gafd o -

1 T 11
PIAD FHY ﬁww%mm%amﬁaam
FaiftaA casa| 1 [S= Raid=a am
qaH T | 1L (@1 gsiy uferiy
gt Tadidt | 10 [deTe Hivie araed nfaer
@ IfeamaT IReaT | IV, |SHTe iRy e Uiy

-t fau T o ed § O 9t SR I:

L. (A) - AV). (B) - (D). (C) - D). (D) - (I)
2.(A) - (II). (B) - (II). (C) - AV). (D) - (I)
3. (A)- (). (B) - (IV). (C) - (I). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

=

ofo|w

Options :

68019116745. 1
68019116746. 2
68019116747.3

68019116748. 4

Question Number : 38 Question Id : 6801914304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

. LIST II

Terms related to Plant tissue ; :
Suitable explanation of the terms

culture
A |Cybnds I. |In vitre development of plants through tissue culture
B. |Somatic embryos II. |Development of male plants from anther

i : Cytoplasmic sterile line 15 fused with another cell line
C. |Micropropagation 1 :
mixing the cyvtoplasmic genome

D. |Androgenesis IV, |Embryos produced from somatic cells

Choose the correct answer from the options given below:

1. (A) - (II). (B) - (). (C) - (IV). (D) - (I)
2.(A) - (D). (B) - (IV). (C) - (I). (D) - (II)
3.(A)-(IV). (B) - (). (C) - (II). (D) - (III)
4.(A) - (D). (B) - (IV). (C) - (III). (D) - (I)

Options :

68019116749. 1
68019116750. 2
68019116751.3

68019116752. 4

Question Number : 38 Question Id : 6801914304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl 1 %1 gat 11 3§ [iaH $ifoe

A1
TSy Sa® H9d9 § T
t-uhi Taael! Bt UG TS
o IR 1 |[Sde YauH & aregd 4 Uielf @1 34 fael oo
B. (@1 o1 1. |ORTTeh IR Y =R Ulefi o famry
DIRGE §9 3@ B BIRBE o &l HaH

C. [SEmaR = el U 30 DI 341 & 1Y S1s] oidl &

D. [TSoHEY IV. [T SIfIB1e U I Yor
- f&u U fdeedl O © TEt SR 91:

L. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
2. (A) - (II). (B) - (IV). (C) - (1). (D) - (1)
3.(A) - (IV). (B) - (I). (C) - (I1). (D) - (III)
4.(A) - (II). (B) - (IV). (C) - (IIT). (D) - (I)

Options :

68019116749. 1
68019116750. 2
68019116751. 3

68019116752. 4

Question Number : 39 Question Id : 6801914305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I wath List IT

LISTI LISTII
Plants Somaclonal variants for herbicide resistance
A |Nicatiana tabacum| 1. |Imidazolinone
B. |Beta vulgaris II. |Chlorosulfuron
C. |Glycine max II1. | Glyphosate
D. |Datura innoxia IV. |Imazethapvr

Choose the correct answer from the options given below:

1. (A) - ID). (B) - (I). (C) - V). (D) - (II)
2. (A) - (IT). (B) - (II). (C) - (IV). (D) - (I)
3.(A)-(II). (B) - (IV). (C) - (). (D) - (II)
4. (A) - (IV). (B) - (I1T). (C) - (IT). (D) - (I)



Options :

68019116753. 1
68019116754. 2
68019116755. 3
68019116756. 4

Question Number : 39 Question Id : 6801914305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gdt 11 ¥ [HaH $ifen
'\gﬂl T I |
& RIS iRy & foe sraeai-t afvde
A |Faiftam ea@a| 1 [SHSmiHH
B. [dlel aaR™ I [FRIRIEHI
C. [FaEiE fTw 111 [f[she
D. |G SAIear | IV, [SHSIUIR

-t fau T o ed § O 9t SR I:
L. (A) - (III). (B) = (I). (C) - (IV). (D) - (II)
2. (A) - (II). (B) - (III). (C) - (IV). (D) - (I)
3. (A) - (I). (B) - (IV). (C) - (I). (D) - (IIT)
4. (A) - (IV). (B) - (III). (C) - (I1). (D) - (I)

Options :

68019116753. 1
68019116754. 2
68019116755. 3

68019116756. 4

Question Number : 40 Question Id : 6801914306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nitrobacter spp mvolved in nitrogen cycle converts

1. Nitrite to nitrate

2. Nitrite to nitrogen

. Nitrate to mitrogen

4. Nitrate to nitrogen dioxide

L]

Options :

68019116757. 1
68019116758. 2
68019116759. 3

68019116760. 4

Question Number : 40 Question Id : 6801914306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A1EcIo 9% =Uidul § INHd Ageiadel TUdl deadl @

 AIgCIse Bl Algec H

_ATECIge &l Algelo 8

Agce B AGCIe H

4. 15¢c DI AgeloH SE3HlaEs 4

fag 2 —

Options :

68019116757. 1
68019116758. 2
68019116759. 3

68019116760. 4

Question Number : 41 Question Id : 6801914307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Nitrification 1s a process of conversion of

1. Nitrates to ammonium

2. Ammonium compounds to nitrites and nitrates
. Nitrogen to nitrites and nitrates

4. Nitrites to ammonium

L]

Options :

68019116761. 1
68019116762. 2
68019116763. 3

68019116764. 4

Question Number : 41 Question Id : 6801914307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e R fdrad =aideul &1 U ithdr g

1. 91g¢eH ¥ g o

2. T Oif®! ¥ Agerse iR AEce §
3. AEee Y Agerge AR Ace &

4. 92CIECH ¥ g |

Options :

68019116761. 1
68019116762. 2
68019116763. 3

68019116764. 4

Question Number : 42 Question Id : 6801914308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Free living bacteria having nitrogenase converts atmospheric nitrogen to

. Ammonium
. Nitrates

. Nitrites

4, Urea

Options :

|

L]

68019116765. 1
68019116766. 2
68019116767. 3

68019116768. 4

Question Number : 42 Question Id : 6801914308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁ@ﬁﬁﬂaﬁﬂaﬁﬁﬁﬁﬂﬁﬂw a1y Argcior ®i [y I uRafdd d=d

1, SR &

Options :

68019116765. 1
68019116766. 2
68019116767.3
68019116768. 4

Question Number : 43 Question Id : 6801914309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nitrosomonas spp 13 useful for plants because 1t

1. Oxidises ammonia to ammonium salts
2. Oxadises ammonia to nitrogen

. Oxadises ammonia to nitrites

4. Reduces ammonia to mitrites

L]

Options :

68019116769. 1
68019116770. 2
68019116771.3

68019116772. 4

Question Number : 43 Question Id : 6801914309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FIZCIGITIg TEdid] il & o Suar g Fife g8
1. 3 1 ey aauit & sifadied sar M &1
2. 521 offaiipa el &
3. 3T &1 EeEe  sfffiod Fare
4, 3T 1 AEcEe § 394l d g

Options :

68019116769. 1
68019116770. 2
68019116771.3

68019116772. 4

Question Number : 44 Question Id : 6801914310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Leguminous plants have bacteria for

1. Nitrogen fixation
2. Sulphate fixation
. Phosphate fixation
4. Water conservation

L]

Options :

68019116773. 1
68019116774. 2
68019116775.3

68019116776. 4

Question Number : 44 Question Id : 6801914310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

welleR Gl & siary ufiean & fRrg o o &

1. A1g¢ro [RRIHI0 & fou
2. Tee [ARIHR0 & i
3. B E R & fau
4, OTe HR&U1 & fau

Options:

68019116773. 1
68019116774. 2
68019116775. 3
68019116776. 4

Question Number : 45 Question Id : 6801914311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Demnitrification 1s carried by

1. Pseudomonas and Rhizobium
2. Pseudomonas and Thiobacillus
. Pseudomonas and Nitrobacter
4. Nitrosomonas and Thiobacillus

L]

Options :

68019116777. 1
68019116778. 2
68019116779. 3
68019116780. 4

Question Number : 45 Question Id : 6801914311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BEIECRUES AN C R SIGIE
1. S M 3R Ageiaay
2 @@Wﬂ#ﬁmﬁw
3. TSN 3R AR e

4, TECREAN 3R Raefiey

Options :

68019116777. 1
68019116778. 2
68019116779. 3
68019116780. 4

Question Number : 46 Question Id : 6801914312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Nodules for the purpose of nitrogen fixation in non-leguminous plants are induced

by

1. Nitrosomonas

2. Nitrobacter

3. Rhizobium

4. Frankia
Options :
68019116781. 1
68019116782. 2
68019116783. 3

68019116784. 4

Question Number : 46 Question Id : 6801914312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR-BaGR gyl § ASeior RRIeu & 3530 I T@T forad gR1 Jikd 8id
B

1. AECHEAN H
2. AEciadeR §
3. UEelllegy ¥
4. Whipard

Options :

68019116781. 1
68019116782. 2
68019116783. 3

68019116784. 4

Question Number : 47 Question Id : 6801914313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Biological mitrogen fixation 1s performed by

(A). Azotobacter and Beijernickia

(B). Nostoc and Anabaena

(C). Rhizobium, Rhodospirillum, and Frankia

(D). Nitrobacter and Pseudomonas

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2.(C) and (D) only.

. (A). (B). (C) and (D).
4. (C) only.

L]

Options :

68019116785. 1
68019116786. 2
68019116787.3
68019116788. 4

Question Number : 47 Question Id : 6801914313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sifde ArscioH RIS 5% gRI 641 SIIdl 8
(A) TOllcladey 3R dguii-Hidar

(B) T SR GHIST

(C) TSTIaqH, JISIYRTH 3R WHidar

(D) TEcladde? 3R

i feu e fooedl O 9 @81 STk 94 -

1. %ad (A), (B) 3R (C)
2. %dd (C) 3R (D)

3. (A). (B). (C) 3R (D)
4.®ad (C)

Options :

68019116785. 1
68019116786. 2
68019116787. 3

68019116788. 4



Question Number : 48 Question Id : 6801914314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Biological nitrogen fixation is performed by some

(A). Symbiotic bacteria

(B). Free-living anaerobic bacteria

(C). Cyanobacteria

(D). Free-living acrobic bacteria

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4.(B). (C) and (D) only.

a2

Options:

68019116789. 1
68019116790. 2
68019116791.3

68019116792. 4

Question Number : 48 Question Id : 6801914314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sifaes g RRIER TS ......... §RI &0 ST 8|
(A) FgoiTdl Sffar
(B) HaI-Giifad famgdiy ofiam]

(D) T aRIfordl ST |
- fqu T faedl O 9§ @81 3R I:

1. %4d (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %4d (B). (C) 3R (D)

Options :
68019116789. 1

68019116790. 2



68019116791. 3
68019116792. 4

Question Number : 49 Question Id : 6801914315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Host Plant N-fixing symbionts
A |Sugarcane I _"'-;'o;‘mc
B. |Water fern II. |Acetabacter
C. |Casuarina 1. | Anabaena
D. |Gunnera IV, | Frankia

Choose the correct answer from the options given below:

. (A) - (D). (B) - (ITI). (C) - (IV). (D) - (I)
. (A) - (III). (B) - (IV). (C) - (II). (D) - (I)
(A) - (IV). (B) - (I). (C) - (IIT). (D) - (II)
. (A) - (IV). (B) - (III). (C) - (II). (D) - (I)

| S

e o

Options:

68019116793. 1
68019116794. 2
68019116795. 3

68019116796. 4

Question Number : 49 Question Id : 6801914315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g1 SR gEI-I1 D1 gafad o -

I I
ﬁ%ﬁﬁrm ﬁ-ﬁ%ﬁlﬂ?ﬁ
A |7 1 |Freie
B. |grey B+ . |gficiaaey
C. |dgamer | 1L | o
D |TERT IV. | thiar

oy

-t fau T o ed § O 9t SR I:

1. (A) - D). (B) - (II). (C) - (IV). (D) - (I)
2. (A) - (IID). (B) - (IV). (C) - (I). (D) - (I)
3.(A) - (IV). (B) - (I).. (C) - (IIT). (D) - (II)
4. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)

Options :

68019116793. 1
68019116794. 2
68019116795. 3

68019116796. 4

Question Number : 50 Question Id : 6801914316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Plant Free-living Plant Growth Promoting Bacterial
A |Sovbean I Rhiza-bf um leguminosarum i
B. |Alfalfa II. |Azorhizobiwm
C. |Clover IT1. |Sinorhizobium meliloti
D. |Sesbama IV. | Bradyrhizobium japonicum

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (IV). (C) - (IIT). (D) - (I)
2.(A) - (IV). (B) - (ITT). (C) - (I). (D) - (I)
3.(A) - ({@). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options :



68019116797. 1
68019116798. 2
68019116799. 3

68019116800. 4

Question Number : 50 Question Id : 6801914316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A1 SR GEI-11 BT JAfd o -
?gﬁl T 1
il %Gﬁﬁamq@‘ﬁmaﬁmﬁvﬂw

A [wrrEE TSAGGH THAEA
B. |3e®TemT 1. |ewifevilfaag

C. |emEr 11 | iR wifagH afceidt
D. [Eaiar IV. | Fwifagd waii-aH
- fau e fded & 9§ |el S| -

1. (A) - (IT). (B) - (IV), (C) - (IIT). (D) - (I)

2. (A) - (IV). (B) - (IIT). (C) - (). (D) - (II)

3. (A)- (1), (B) - (11), (C) - IV), (D) - (I1T)

=

(A) - (III). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019116797. 1

68019116798. 2

68019116799. 3

68019116800. 4

Question Number : 51 Question Id : 6801914317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Nodule formation 1 plants happen through different steps
(A). Plant cell differentiation

(B). Curling of the root hair

(C). Contact of Rhizobium with root hair

(D). Infection thread progression to cortex cells

Choose the correct answer from the options given below:

1. (D). (B). (C). (A).
2. (A), (B). (C). (D).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019116801. 1
68019116802. 2
68019116803. 3

68019116804. 4

Question Number : 51 Question Id : 6801914317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

areif & 92l o1 Fmfo e =Rl & mram S gar e
(A) 15 BIFR@ fareT

(B) T Il 1S
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- fau e foel O 9§ |el SR 4

1. (D). (B). (C). (A)
2. (A), (B). (C). (D)
3.(B). (A). (D). (C)
4.(C). (B), (D). (A)

Options :

68019116801. 1
68019116802. 2
68019116803. 3
68019116804. 4



Question Number : 52 Question Id : 6801914318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The systematic production of proteinase inhibitors in young tomato plants is
triggered by a complex sequence of events

(A). Synthesis of gystemin

(B). Synthesis of prosystemin on the wound site

(C). Activation of several genes mcluding protemnase inhibitors

(D). Synthesis of jasmonic acid

Choose the correct answer from the options given below:

_(A). (B). (C). (D).
.(B). (A). (C). (D).
.(B). (A). (D). (C).
4. (C). (B). (D). (A).

a2 =

L]

Options :

68019116805. 1
68019116806. 2
68019116807. 3

68019116808. 4

Question Number : 52 Question Id : 6801914318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ATIagED cHIeX & Uil § Ui JaIyd] &1 Iaieyd Sdle-. ge-1ali &
U icd 3hH Y L= aldl ©

(A) e &1 gedyn
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T fau T fased! & O 9@t SR -

1. (A). (B). (C). (D)
2. (B). (A), (C). (D)
.(B). (A), (D). (C)
(C). (B). (D). (A)

[

Options :



68019116805. 1
68019116806. 2
68019116807. 3

68019116808. 4

Question Number : 53 Question Id : 6801914319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct order of steps for developing a transgenic plant through plant tissue
culture will be

(A). Putative transgenic adult plant

(B). Regeneration on selection media

(C). Explant selection

(D). Addition of acetosyringone and Agrobacterium having transgene

Choose the correct answer from the options given below:

Q). (D). (B). (A).
_(A). (B). (C). (D).
.(B). (A). (D). (C).
(C). (B). (D). (A).

|

e i

Options :

68019116809. 1
68019116810. 2
68019116811. 3

68019116812. 4

Question Number : 53 Question Id : 6801914319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(C). (D). (B). (A)
2. (A). (B). (C). (D)
3. (B). (A). (D). (C)
4.(C). (B). (D). (A)

Options :

68019116809. 1
68019116810. 2
68019116811. 3

68019116812. 4

Question Number : 54 Question Id : 6801914320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following molecule DOES NOT have an auxin-like activity?

. 1-Naphthalene Acetic Acid

. Benzyladenine

. 2-methoxy-3.6-dichlorobenzoic acid
4. 2.4-Dichlorophenoxy Acetic Acid

e

Taa

Options :

68019116813. 1
68019116814. 2
68019116815. 3
68019116816. 4

Question Number : 54 Question Id : 6801914320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68019116813. 1
68019116814. 2
68019116815. 3

68019116816. 4

Question Number : 55 Question Id : 6801914321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tissue would be most suitable for raising virus free plants ?

1. Leaf mesophylly cells

2. Immature embryos harvested from imature seeds
. Intercalary meristem

4. Actively growing tissue from shoot tips

(%]

Options :

68019116817. 1
68019116818. 2
68019116819. 3
68019116820. 4

Question Number : 55 Question Id : 6801914321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116817. 1
68019116818. 2
68019116819. 3
68019116820. 4

Question Number : 56 Question Id : 6801914322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

During the organogenesis from the callus. relatively high ratio of BAP to TAA.
would be favoured for ?

. Mamtaming the callus for longer period of time.
. Development of shoots from the callus.

. Development of roots from the callus.

. Rapid induction of roots.

b =

e faa

Options :

68019116821. 1
68019116822. 2
68019116823. 3
68019116824. 4

Question Number : 56 Question Id : 6801914322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116821. 1
68019116822. 2
68019116823. 3
68019116824. 4

Question Number : 57 Question Id : 6801914323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a carbohydrate, but CANNOT be used as carbon source
for in vitro plant tissue culture?

. Sucrose

. Maltose
Myo-inositol
4. Cellobiose

Options:

P =

L]

68019116825. 1
68019116826. 2
68019116827. 3

68019116828. 4

Question Number : 57 Question Id : 6801914323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116825. 1
68019116826. 2
68019116827. 3

68019116828. 4

Question Number : 58 Question Id : 6801914324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the following plant tissue culture media components i list I with their
functions

LISTI LISTIT
A |Gelrite I. |Prevent oxidation of phenols
B. |2.4-Dichlorophenoxyacetic acid| II. |Media solidification agent
C. |Polyvinylpyrrolidone III. | Stress hormone
D. |Abscisic acid IV |Callus induction

Choose the correct answer from the options given below:

. (A) - (IV). (B) - (I). (C) - (II). (D) - (III)
- (A) - (D). (B) - (I). (C) - (II). (D) - (IV)
. (A) - (III). (B) - (IV). (C) - (II). (D) - (I)
. (A) - (ID). (B) - (IV). (C) - (I). (D) - (I1I)

o b —

s

Options:

68019116829. 1
68019116830. 2
68019116831.3

68019116832. 4



Question Number : 58 Question Id : 6801914324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (IV). (B) - (D). (C) - (II), (D) - (IIT)
2. (A) - (IIT), (B) - (I). (C) - (I). (D) - (IV))
3.(A) - (). (B) - (IV). (C) - (II). (D) - (I)
4.(A) - (I). (B) - (IV). (C) - (I). (D) - (III)

olofw|=

Options :

68019116829. 1
68019116830. 2
68019116831. 3

68019116832. 4

Question Number : 59 Question Id : 6801914325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In plant tissue culture, explants are dedifferentiated to form callus. Callus tissue
can be regenerated into complete plantlets primarily by altering the concentration

of

1. Amino acids

2. Vitamins and myo-inositol
3. Sugars and vitamins

4. Growth regulators

Options :

68019116833. 1



68019116834. 2
68019116835. 3

68019116836. 4

Question Number : 59 Question Id : 6801914325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116833. 1
68019116834. 2
68019116835. 3

68019116836. 4

Question Number : 60 Question Id : 6801914326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For ex-vitro rooting. shoots are treated with .......... and transplanted directly in
the potting mix. Choose the correct option.

1. Benzylaminopurine
2. Auxin

. Thidiazuron

4. Abscisic acid

Options:

faa

68019116837. 1
68019116838. 2



68019116839. 3
68019116840. 4

Question Number : 60 Question Id : 6801914326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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.- e f
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Options:

68019116837. 1
68019116838. 2
68019116839. 3

68019116840. 4

Question Number : 61 Question Id : 6801914327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Cholchicine 1s used for the production of

. Somaclones

. Hybrids

3. Polyploids

4, Gametoclones

I =

Options :

68019116841. 1
68019116842. 2
68019116843. 3

68019116844. 4



Question Number : 61 Question Id : 6801914327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019116841. 1
68019116842. 2
68019116843. 3
68019116844. 4

Question Number : 62 Question Id : 6801914328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Technique of anther culture was described for the first time by

1. Haberlandt
2. Guha and Maheshwari

3. Cocking and Bergmann
4. Heinz and Takebe

Options :

68019116845. 1
68019116846. 2
68019116847. 3

68019116848. 4

Question Number : 62 Question Id : 6801914328 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019116845. 1
68019116846. 2
68019116847. 3

68019116848. 4

Question Number : 63 Question Id : 6801914329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tissue would be most suitable for the development of
haploids from a male sterile plant?

. Pollen grains

. Apical meristem
3. Nucellus

4. Ovule

Options :

b =

68019116849. 1
68019116850. 2
68019116851. 3

68019116852. 4

Question Number : 63 Question Id : 6801914329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116849. 1
68019116850. 2
68019116851. 3

68019116852. 4

Question Number : 64 Question Id : 6801914330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statement 1s NOT TRUE for the haploid plants?

—

. Double haploids produced from haploids are very useful for genome
mapping.

Haploid production is very useful to generate exclusively male plants.
Haploid production is one of the quickest method to achieve homozygosity.
. Haploids cannot be used for developing disease resistance varieties.

-I-LE.-UIJ

Options :

68019116853. 1
68019116854. 2
68019116855. 3

68019116856. 4

Question Number : 64 Question Id : 6801914330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116853. 1
68019116854. 2
68019116855. 3

68019116856. 4

Question Number : 65 Question Id : 6801914331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following are the various stages of a diploid plant generation from anthers.
(A). Homozygous diploid plants

(B). Explant preparation

(C). Differentiating callus

(D). Incubating anthers on culture media

(E). Colchicine treatment

(F). Haploid plantlets

Choose the correct answer from the options given below, that represent the events
in sequencing order:

1. (A). (B). (D). (C). (E). (F).
2. (B). (D). (C). (F). (E). (A).
3. (B). (D). (C). (E). (F). (A).
4. (B). (E). (D). (C). (F). (A).

Options:

68019116857. 1
68019116858. 2
68019116859. 3
68019116860. 4

Question Number : 65 Question Id : 6801914331 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (D). (C). (E). (F)
2. (B). (D). (C). (F). (E). (A)
3.(B). (D). (C). (E). (F). (A)
4. (B). (E). (D). (C). (F). (A)

Options :

68019116857. 1
68019116858. 2
68019116859. 3

68019116860. 4

Question Number : 66 Question Id : 6801914332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frequency of albino production 1s high n?

1. Gynogenesis

2. Androgenesis

. Somatic embryogenesis
4. Micropropagation

L]

Options :

68019116861. 1
68019116862. 2
68019116863. 3
68019116864. 4



Question Number : 66 Question Id : 6801914332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019116861. 1
68019116862. 2
68019116863. 3

68019116864. 4

Question Number : 67 Question Id : 6801914333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct combination of statements from the given list

(A). Haploid plants regenerated through the callus culture would always be exactly
similar to the parent plant.

(B). Production of haploids 1s very useful for developing homozygous lines that
can be used for breeding research.

(C). Time taken to produce homozygous lines through doubled haploids 1s same as
for selfing/inbreeding.

(D). Haploids have been successtully coupled with the breeding programs in
several crops.

Choose the correct answer from the options given below:

1. (B) and (D) only.
2. (A) and (C) only.
3. (A). (B) and (C) only.
4. (C) and (D) only.

Options:

68019116865. 1



68019116866. 2
68019116867. 3

68019116868. 4

Question Number : 67 Question Id : 6801914333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %4d (B) AR (D)
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3.%ad (A), (B) 3R (C)
4, %4d (C) AR (D)

Options :

68019116865. 1
68019116866. 2
68019116867. 3
68019116868. 4

Question Number : 68 Question Id : 6801914334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTIT
A |Polyethylene glycol| 1. |Somatic hybrids
B. |Homokaryons [I. |Cell wall degrading enzvmes
C. |Doubled haploids | IIL. |Fusogen
D. |Macerozyme IV. |Anther culture

Choose the correcr answer from the options given below:

1. (A) - (II1). (B) - (IV). (C) - (I1). (D) - (I)
2. (A) - (IV). (B) - (I). (C) - (II). (D) - (III)
3. (A)-(IV). (B) - (IIT). (C) - (I). (D) - (II)
4. (A) - (III). (B) - (I). (C) - (IV). (D) - (II)

Options :

68019116869. 1
68019116870. 2
68019116871. 3

68019116872. 4

Question Number : 68 Question Id : 6801914334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)
2. (A) - (IV). (B) - (D). (C) - (IL). (D) - (III)
3.(A) - (V). (B) - (IT). (C) - (I). (D) - (II)
4. (A) - (II). (B) - (I). (C) - (IV). (D) - (II)

Options :
68019116869. 1

68019116870. 2



68019116871. 3
68019116872. 4

Question Number : 69 Question Id : 6801914335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The first isolation of protoplasts by mechanical method was achieved by

1. Klercker
2. Hanstemn
3. Cocking
4. Melchers and Labib

Options:

68019116873. 1
68019116874. 2
68019116875. 3
68019116876. 4

Question Number : 69 Question Id : 6801914335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gitAd faftl g1 Siidgous @ Tad ugd fora fagad fear

1. G
2. 8%
3. Bl
4. Hegd 3R aifge

Options :

68019116873. 1
68019116874. 2
68019116875. 3
68019116876. 4



Question Number : 70 Question Id : 6801914336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Water fern Azolla can be used as biofertilizer because

1. It has rhizobium in symbiotic association
2. It has large quantity of humus

3. It has symbiotic cynobacteria

4. It has mycorrhiza

Options :

68019116877. 1
68019116878. 2
68019116879. 3

68019116880. 4

Question Number : 70 Question Id : 6801914336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116877. 1
68019116878. 2
68019116879. 3
68019116880. 4

Question Number : 71 Question Id : 6801914337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

How many ATPs are required to generate four molecules of NH3 during
symbiontic nitrogen fixation ?

22
.16
.28
4. 32

Options :

b =

L]

68019116881. 1
68019116882. 2
68019116883. 3

68019116884. 4

Question Number : 71 Question Id : 6801914337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tgoildl Agc o KISR0 & GRM NH3 & 9R U Bl Sad B3+ & g
fopc UeTdl @ Saxgepd gidl 62

1.22
2. 16
3.28

4. 32
Options :
68019116881. 1
68019116882. 2
68019116883. 3

68019116884. 4

Question Number : 72 Question Id : 6801914338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following element play a key role in the process of biological
nitrogen fixation m legumes?

. In

. Mn

Zu
4. Mo

Options :

2 =

Taa

68019116885. 1
68019116886. 2
68019116887. 3
68019116888. 4

Question Number : 72 Question Id : 6801914338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.Zn
2. Mn
.fu
4. Mo

Options :

L]

68019116885. 1
68019116886. 2
68019116887. 3

68019116888. 4

Question Number : 73 Question Id : 6801914339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s a biological control method to control pests?

1. Companion planting
2. Fumigation

3. Pesticide applications
4. Installing traps

Options :

68019116889. 1
68019116890. 2
68019116891. 3

68019116892. 4

Question Number : 73 Question Id : 6801914339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019116889. 1
68019116890. 2
68019116891. 3

68019116892. 4

Question Number : 74 Question Id : 6801914340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following organism can be used as a biocontrol agent in the treatment
of plant diseases?

1. Chlorella
2. Anabaena
3. Lactobacillus
4. Trichoderma

Options :

68019116893. 1
68019116894. 2
68019116895. 3
68019116896. 4

Question Number : 74 Question Id : 6801914340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019116893. 1
68019116894. 2
68019116895. 3
68019116896. 4

Question Number : 75 Question Id : 6801914341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Nitrogen fixation by Rhizebium in nodule requires

1. Aerobic environment

2. Anaerobic environment

. Facultative aerobic environment
4. Facultative anaerobic environment

L]

Options :

68019116897. 1
68019116898. 2
68019116899. 3

68019116900. 4

Question Number : 75 Question Id : 6801914341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019116897. 1
68019116898. 2
68019116899. 3

68019116900. 4



